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(D) (C) (B) {A) QUESTIONS Q-1
I A4 i FA 7 I# et = IR
Robbins Keynes Marshall Adam Smith | The founder of classical school of thought is:-
el S A S SFe bl il Llsfd;b};&?bfc;lf 2
Adam Smith Clark J.M. Keynes Marshall Macro Economics was infroduced by
& )‘ k) f e dred et di | 3
Negative Zero More Less Price of non economic want is:
b ot < Loy o trad cobl e JE e L2 | 4
Becomes Zero| Decreases Increases Paositive Dife to contrul'nous uss of'# commadity the
marginal utility becomes.
"(.."fulif il = b wlifn,? wUJLf’ - H'-.fa)lil U'»Lﬁd“bc-é!ﬂd}fbfitfr 5
Marginal utility | Positive utility | Negative utility | Total utility | Utility of the last unit of a commodity consumed is:
28 AT J2 | e IRy YIdIG
Depe_.-ndent Indep_endent Con@inous Disco_ntinous Which variable has gapes.
variable variable variable variable
20450 )‘ (j} .,:...i _?_, L;”bga#‘TJ"ﬁL’il.,Lf 7
Infinite Zero Negative Positive The Income elasticity of infefier goods is
K i~ Utility East | Supply ¥+ | Price Ked |Demand is a functioh.of, e S b 8
Consumption
Ut J"J _J/!’d_' Iy ._J/”g_,f L ~ b L,P)-P’JJ:?‘L .d.ji Al 9
Vertical Horizental Right Left Dye to fall iwsupply the supply curve shift to:
/.“‘ x'.c.J:JVJ 8J_|:-.;¢'—-J{] I“C-_JKI -Jﬁ;@JMJIA.)f:_JIgM;Mﬁ 10
Taro Equal to unity Greater than Less tham [Ifthe supply curve passes through the origin
unity unity the elasticity of supply is:
g | dues | weedh @i etk ] 11
Vegetable market | Grain market | Imperfect market | Perfect market | One price rule works in:
Cross wiselZ Oval (% Vertical &} Horizental (7! Supply curve of penishable goods is:-< tr s Bl A LG | 12
Profit C-’,L? Intrest s+ Rent wd Price .-,2 The reward of capital is[’,ﬂ'.yéf gl};’:é:b‘ KoL | 13
g A " 4 ” GBS S LT | 14
Six Four Three Two The numbers or types of laws of returns are.
- b = [0 _%dxwaJﬁﬁJk 15
Organization Capital Labour Land Factor of production having fixed supply.
SYNITEN A F & et K YL e | 18
Up ward From leftto right Horizental Vertical The marginal revenue curve under monopoly is:
e waaile! £, bas Sk ¢ oy 0T - b S EUr S EL el | 17
Bypermission of p ; i e
6 A Conditional Prohibted Free The entry of firms in monopoly is:
bl ottt glatih s F Ce i e QUi S bap il de | 18
Normal loss | MNormal profit | Abnormal loss | Abnormal Profit |In long run under perfect competition a firm gains.
=d e 250 PN e S AL ] 19
Price Enterpreneur Mutual Existance of | 5ng is not included in assentials of market.
relation goods
cdenp | cqd O e Jeox SR Fe oy s S| 20
Will be zero V‘i'gnr:g;'n Will decrease | Will increase | It supply of labour increases. Then rate of wage.
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Answer briefly any Eight parts from the followings:- 8x2=16 -/ zfelz L 171 47 . Me L ditn -2

Define the Normative science.
Write the concept of Macro-Economics.

Write the Adam Smith's definition of Economics.

Write any two limifations of law of diminishing marginal utilty. .u.‘ﬁuyf. #Y de f;”,:wp."ﬁufﬁ (vi)

State any two characteristics of indifference curve.

Explain the difference between demand and desire. -u:f 5 Iy J}gﬂ J"ié»lJ{ix}

Write down the four causes of changes in demand.

Write down two factors which affecting elasticity of demand.

Describe the concept of cross elasticity.

g e (i)

What is meant by Non-Economic goods < i/ U BIl7  (i)
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Define the Negative utility. = 7wl (v)
U fete?n (I o pnss (i)
Define the Function. ‘u.'f'g.._vg/‘?if S (viii)
LIt Lt PSS (%)
Uttt 3y B S (xi)
S 26 e (xii)

Answer briefly any Eight parts from the followings:- 8x2=16 - /zfeliz ZL 171 4T e dfe Ut ditn -3

S Y St £af (i)
Write the two limitations of law of supply.

What is long period supply?

What is equilibrium price?

When increase in supply is grater than increase in demand, what effect will be on price?

Define the Market equilibrium.
Define the non-meterial capital.

What are external Economics?

What is extension in demand? S« tx 514 ¥as (i)
P Sars95 (i)

S Vel it (iv)

‘-'h’:_.j;jlg,;cd_":ifw Irolie .;Hd,é..‘.aiu' Lt (v)

00 S 3PS IL S (Vi)

L ey FE U Gl Fvil)  Whatare the meaningé of Labour? S UpiP e (vi)
St B Gra(x)  Whatis (Revericdhmobiity of Labour? % i3 Puwf=® (ix)

Write the four advantages of small scale production. _u:‘dg;’li;g- LAk (xii), Défingthedaw of constant cost? [/ Al QUi (xi)

Answer briefly any Nine parts from the followingsi- 49%x2=18 _L,:/Qf@;lgﬁ"zimi J e dfﬁe B J_’ifw -4

Define the fixed cost by giving two examples?

What is meant by Envelop curve? fe_ s Lzt 3 (i)
What is the slope of Average Revenué and Marginal
Revenue Curves under perfect competition.

Explain the bgsic aim of a firm.

What is meant by Normal,profit, of firm?

Write any four essentials of market. _u;‘«.:..t. jl:’;gz:djv (viii)
What is meant by day to day Market?

Write any four factors determining the size of a market.
State marginal’productivity theory.

Explain the concept of minimum wage.

Write four factors of production.
Part II
Note: Attempt any three questions.

Explain the law of equi marginal utility with schedule and diagram.
Define Elasticity of supply. Explain it with table and diagram.
Explain law of increasing returns through table and diagram.

@ o N O 0

Under perfect competilion write down diffirent possibiities of firm's equilibrium in short run.
What is meant by profit? why its ratio is not same for all enlrépreneur? Write causes.

S U e oSS i (i)
Define the variable cost. 25 3/ ilers™ (i)
e L3 B L S S b SL e (i)

S Y sS GBS (V)
e e b L) (vi)
What is meant by price Discrimination? T.f..ﬂ/lfa. od JBI (vii)
e Siopy (iX)
s ftse e Bt &S A emn S 82 (%)
s 7 H (xi)
Lepd et xi
s Hig st (xil)
(» -~
10x3=30 -yl fewrlemrdadf  _od
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